Math Practice: Two- Step Word Problems (3. 0A8) &
Identfy Arvithmetc Patterns (3. 0A9)

Sohre .
1. 3+4Yx2=

3. (20-5kxg=0 o=

(3. 0A B) Wiite am equevtion axsd find dve soluion

Iar oy had 5 package s of bubblegon. Eachpacha ge
had 7 sticks. She share d themn with her friends.
"EMheat she vwas done sha g, she had 10 stcks left.
Honer 1msnry sticks were shaoe d?

Eruaation:

Ansaer:

Ben oand Zack like to collect baseball trading cards.
They pot thelr tradiyE cards 1o biders to keep
thein safe . Each tradnyg card bivler hokls 10
baseball c s . Beny has & wadimgg card bawlers awl
FZackhas 2 rading caadbowlers . 411 of their rading
ca1d books are full. How 1maity baseball radoyg
cards do they lerere D all?

Erquaation:

Arsarer:

(3.0A 9) Ideify Aviflanetic Patberns .
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Faale:

Coanatd by I Cwat D 1011

2. B+Y+9=

4 Y+5+g=I10 g =

Joloy picked 82 bliebearies. He ate 32 of the
bhieberrie s a1l plac ed the bliebeaties that were
Eft e qually ito 5 cortamers . Howr maacyr
bhaieberrie s cdid e pnt Dy e ach corda e ?

Emquatica:

Hyismer:

Lirs. SBmith boagld 224 pencils sawd 129 erasers for
her class. Fhe gaee 285 pecils and erasers to her
shaderts . Shwe kept the rest. Hover moaicy terns clicd
she keep ?

Equatica:
Ayisewer:
Frgnat. Choatpnat.
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